1. Vypocitaj prislusni percentovu Cast’:

a) 3% zo600 100% .....cceuee.

b) 25% z 500 100% vroverereeee

c) 2% z 4200 100% ...oovvvveonenn,

d) 10% z 150 100% «.oovvvvveorenn,

e) 0,5% z 200 100% vvvvrevrveee

f) 18 % z 2000 100% .....ceveee

g) 3% z0 7500 100% ..ooovvveeonenn,



2. Vypotitaj prislusna percentovt Cast’:

h) 15% zo 400 100% ....coovenvneene

i) 20% z5000 100% ....ccvvveenne

j) 48%z40 100% ......ccuenee.

k) 0,1% z 150 100% ..oovvvveennn,

) 110% z 300 100% ovvvererreeee

m) 9% z 20 100% ...cocovevvenene

n) 3 % zo 7500 100% ......coveeee.



